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Candidates are required to give their answers in

their own words as far as practicable.

1. Answer any five questions: I1x5=5
-1 A5 dos Tes ais ¢

1)  Give the logical form of "Orchids are not

fragrant".
SHRMIPTHS ot Wi ¢ “TfFT ol 7 |
1)  What is the negation of a self-contradictory
proposition?
@ ZRCER AR e I 232

111) What is meant by a necessary condition of an

event?

G5 oI SRMF =S Fe100 FI (@R 2
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iv)  Represent the following in Venn-Diagram:

Nothing is perfect.

Aot (eq-brg o 54 ¢

@ g2 e 73 |

v)  Give the contrapositive of the following:

st siafes @t wie ¢
Some S is not non-P.
vi) If A is true, what would be the truth value of
BDA?
T A 7] 2, O=(E B D A T AT F 2(3 2
vii) Translate the following sentence in the
standard form of categorical propositions:

None but the brave joins the Army.

ffeiiie b Swe s pEa vl SFicE

FEle 99 ¢
A BT S (F6 G el (7 =11 |

viii) In what sense does the conclusion of a valid
deductive argument follow from its premises?
9B (34 AR I Prale o « 3 st A1
(A 2o 27 2

2. Answer any ten questions: 2x10=20
@-cleT wifl eis Tes vite ¢
1)  Distinguish between analogical argument and

popular induction.
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Vi)

vii)
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State the rule of U.G.

AR AGFReRIfS [ge 41

What is propositional function?
oo (52

What is the paradox of material implication?

TS e FHre e 6 (I 2

What is meant by the disjunctive 'or' in the
inclusive sense?

[SEEEE ORI NN S TSI BV IS RG4S
I @Rie

Express the following formula in a logically

equivalent formula in which negation sign

applies only to simple predicates:

fsfeifae formula-Gs, (e S ANLE SNEHG
@ formula-(e 2 T, @AE WRK b vy
A BN (RARER) 0 IS AP ¢

~ (3x)(Fx. ~ Gx)

Find out the step at which the following
derivation is erroneous, and explain why?
feferiis sRraRER (@i 1w el 2@z ©f b
T, G (e goT REACZ 1! 4 |
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viii)

Xi)

Xii)

xiii)
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1. (I.J) oK

2. ~JvK /oK

3. IoK 2,Im pl.
4. ] 1, Simp.
5. K 3,4, M.P.

When are two statement-forms logically
equivalent?

F 7f5 I (Jifes ©ica L 232

State De Morgan's Laws.

De Morgan's-43 7@ g 54|

Determine the truth-value of the following:

e ba TerEy fefa < ¢

~p>(p>~p)
What is the probability of getting a '6' twice in
rolling a dice a two times in a row?
GFD] BRI 7T 217 1A B 206 ARV A
A T+ ¢

What is the contradictory of a tautological

proposition? Give reason for your answer.

G5! FOLEJ 61K [P A5+ Bl B(F 2 (OINIF T&Fd
AF Y& 7S |

What is existential fallacy?

SRR (VI I 0T 2

[4]



X1V)

XV)

XV1)

Why the predicate term of a negative
categorical proposition is distributed?

(o1 Qe ST 60 [ 2 1Ay 2302
Why is the relation of contrariety not accepted
as a logical relation in modern logic following
Boole?

T SRl S Sl Ifefeic (< Reidre
e @ifes e et T 39 W 2

Symbolize the following by using logical
notations of propositional functions and
quantifiers:

No one will succeed unless he works hard.

xR IR 3 TaE it @ifes

Tfoite asiwiite 34 ¢
(FC-3 37O 37 FAC I ol G T AT e |

3. Answer any five questions: 6x5=30
- #A1fs doss Ted vie ¢

i)
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Prove the invalidity of the following by
assigning truth values. 3x2=6
a) (X)(Px D~ Qx)

(X)(Px D~ RX)/ (x)(Rx D~ Qx)
b) No diplomats are extremists. Some

fanatics are extremists. Therefore, some
diplomats are fanatics.

(I FoIToCE 7] BIIAT | (I (I 4505
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iii)
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& 22 bTF] | S0, (I (Pl FoeAl oS
9 (i |
Give reasons to show that in the second figure
of a categorical syllogism both premises
cannot to affirmative.
e M ordle @ MR TEE 7 AT 10
e MMLF 2o Al 1 |
What is the a priori theory of probability?

Compute the probability of the following
event: 3+3

What is the probability of getting at least one
ace in drawing two cards from a deck of cards
if, the first card drawn is returned to the deck
before the second draw?

AGIRTOIA 7o a og elce F @R ? FEfe
FoAITOR AT 9iela] 541 ¢

O SR 2GRS (A 7217 9o O (Gl Feet
SEe: G0 SIFT (GF! 219 AT F© 2 AM
AT (S O 2716 R orel 23 f@sim
A COIeTI = 2

Determine the nature of the following
statement-forms as tautologous, self-
contradictory, or contingent by using Truth-
table Method: 3+3

fFwfefee apaica 1ioa F=mel TosTes, W FREE,
T ST O FOPARA simiod ARy e 54 ¢
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a) p>[(p>q)>q]

b) p>[~p>(q-~q)]

Translate each of the following into the logical

notation of propositional function and

quantifiers: 2x3

a)  Only licensed physicians can charge for
medical treatment.

b)  There are white tigers.

c) Not any applicant was selected.

xR AR I 93 N AL
2O i © ] 3

a) (33 Tie™ A4id bieeorwaid vield
ofeTa & w1 WISt A0S 2INE |

b) sl A R

C) TGS @B (@15 T T |

Express the following argument in the
standard-form categorical syllogism. Test the
argument for validity by applying rules of valid
syllogism. Name the fallacy committed and

the rule broken if the syllogism is invalid.

Some snakes are dangerous animals, but all
snakes are reptiles, therefore, some dangerous

animals are not reptiles.
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vii)

viii)
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frferiae et Sivd SmIca Secsts wrica e
B AT I (LT fset] Qs e @
(Al fRola 9 AW S Sty 2 ©IRCE TS (Fl
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(I (I A &7 Rofese @i, fog 7 Mol 21
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If "Some merchants are not pirates" is true,
what may be inferred about the truth or

falsehood of the following:

a) No merchants are non-pirates.
b)  Some pirates are merchants.
c) All pirates are non-merchants.
2+2+2
fsferiewfer oyl i N2y 79 F Sl S
JR?
a) (I A6 TG-S |
b) N P Y 2 G |
c) R GEmY T S-S |
Distinguish between an argument and an
argument form with examples. Define the

"specific form" of a given argument. 4+2

& @3 YFe-IFICER &g #1129 Srizaeriz i
9 | 276 (T e R S F6700 H (@R 2
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Answer any three questions: 15%x3=45

@@ Toalt ama Teawie ¢

4.
i)
i)
iii)
37(A)0S

Explain and illustrate Mill's canon of the
Method of Difference, and discuss the
advantages and disadvantages of this method.

8+7

Rt focsdl wmfes @i Srzserg il 9,
G3R O3 Amfoiba ARl e SRl SiETs 71|

Explain the connection between the validity
or invalidity of a deductive argument and the

truth or falsity of its premisses and conclusion.

GHb SRR SRR (] WL SRR AL
& SR SR ¢ raie agefas sTerel @
f2iCes i 1 9 |

Test the validity of the following arguments/

argument form using Venn Diagrams:

a) Not all is gold that glitters, for some
cheap metals also glitter, and gold is not

cheap metal.

b)  All mortals are imperfect beings, and no
humans are immortals, whence it follows

that all perfect beings are non-humans.
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¢) OAO-2

fmferiie e / Je-ermmetn @ael [Rom 9,

oo Torad ARG ¢

a) A g2 56F I I TR, P (I (I
T ATY'E HIOF F(T UR PIIT (I 7T T
pel

b) T SRR el 27 Solef, a3 (I S 9
ST, A (A W7o & @ A A el =
S-S |

c) OAO-2

Construct a formal proof of valifity for each

of the following arguments: 5%3
e Y@ uki arebe e SIFEsTe ex
519+ 92

a) (X){[IX D (Jx. ~ Kx)]o [JX D (Ix ) Kx)]}
(EIX)[(IX . Jx)o ~ LX]
(EIX)(KX .LX)

b) (x)[Wx D (XX D Yx):l
(EIX)[XX . (Zx. ~ Ax)]
(x)[(Wx D Yx) D (Bx ) Ax)]
(EIX)(ZX. ~ Bx)
c) A book is interesting only if it is well-

written. A book is well-written only if it

is interesting. Therefore, any book is
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both interesting and well-written if it is

either interesting or well written.

a5 72 foesss = @Fe 7 @A JFifee
27| @36 32 gfile = &= I @
eds 27 | ok, (@ 33 Tt a)
AfeRRre Tez 7@ 7 @It 27 beits syl

EGEIRSERE

What is a scientific explanation? What are the

criteria for evaluating a scientific explanation?

Explain with examples. 3+12

el AT P 0T 2 G0 @ElE R
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